101. Match the following :

(©)

©

4

(@) Newton
(t) Albert Einstein
@ Marie Curis
(@ Kepler
@  ®
@A) o1 3
o
© 2 1
D) 4 2
QLfoEes -
@) - Qi
) aoiin s
© G Ay
(d) Qalen
(a) (b)
) 3
® 3 4
© 2 1
D) 4 2

1.  Radioactivity
2.  Laws of planetary motion
3.  Laws of motion

4.  Relativity theory

1.  sdflwssd
2. Csnersaflen @uiss eldser
3.  @uésaddser

4. ApuysmiGwue Qsratans
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102. Which one of the follbwipg is correctly arranged in their increasing order of reactivity?
(A) Mg>Al>Ca>Na
' j Na > Ca > Mg > Al
- (C)  Ca>Al>Mg>Na
(D) -Na>Ca>Al>Mg

&P 2 erereumMled, ieummblen Q&meﬁ;ﬂms&r 2guuamuie gneuflasuie eg sflureng)?
(A) Mg>Al>Ca>Na
(B) Na>Ca>Mg>Al.
(C) Ca>Al>Mg>Na
(D)  Na>Ca>Al>Mg

103.. Which of the following is correctly matched?

L. Apple - = Oxalic acid

II.  Vinegar - Acetic acid

III.  Grape - Malic acid

IV. Tomato - -  Citricacid ad

a I \A II
© 1 D) IV

Spaseam_aupmer sfMwns QurmSSILL HdTaTg) oTg)?

L <pUSer - ysevrels e
CIL feflsi - Sflys sl
II1. ;Qr;rrﬁl_ms-' _. - wredl & udlevid
IV, s&smafl - AlAs sufeid
Ay 1 ST 1) GRS

(C) III : ; (D) 1V
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104. ——— is essential for binding of Ribosomal sub units.

I Mo

I.. Mg

(0|

IV. Ca

(A) 1andII only \;{ 11 only
(C) HlandIVonly - S (D) IVonly

@yCuTGsmb gmenT @ GsMaT Gamamasl LweaTUH saflow

s, -

I Mo :
. Mg

. cl

IV. ~ Ca

A Tuopgi T BL06 C ® Mo

© Muopgd Voied (D) IV wl @i

105. Human ovum contains no yolk. How can we call it?
" Alecithel Egg I .
(B) Isolecithel Egg
(C) Mesolecithel Egg
(D) Telolecithel Egg

ELIDQ-IW;?LI 2iHm weflg SiGTL i@ eflenent 's'rdquerj SEDPEEOMD?
(A) . gladlgse apLen

B) gCsrQaflgse uplen

(©)  BCsnQadlssd e

D)  eCorQufgsd apam

n , g JICGT
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106. Which gland enlarges, after the middle age of the male beople, leads to interrupt urination?

(A)  Bulbo-urethral gland

y Prostate gland

(C) Ampulla

(D)  Gowper’s gland

auwg P Hlowuis oamasEass abs srod Auilsreausred, Apdir sWiy urduuemLyb? |
(A) uveCur-whgre s&yud

B) yCrrevCGrLL &yl

C) oyoer

D)  Qserdiuf &roG

107. The average ocean salinity is

(A) . 45%
\gf 35%
©) 33%
(D) 38%

- QuerisLalen srmef o auiliSlwsSer sierey

A) 45%
B) 35%
© 33%
D) 38%
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108. Which cities have separate route for sub urban railway system?
M Mumbai, Delhi, Kolkatta and Chennai

(B)  Mumbai, Bangalore, Hyderabad and Chennai

(C) Deihi, Kolkatta, Chennai and Pune

(D) Kanpur, Delhi, Chennai and Mumbai

apHs D& RIGET L|[g;55ﬁ Qrulie Curs@eursdnE g;_sbﬂuurrmg,smu_lé; Qs megor (h emermen?
(A) ey, QLael, AsroassT WHMD Ceaener

B) weu, QuiisEHT, @ansTTurs LHHIL Qeaamen

(C) " Qrevad, G]a;rréfsggrr. Qeerenar wHHID LGer

D) sranym, QLeel, Qsearemar WHMID PDEMLI

109. Which area is very low damage risk zone while earthquake?
" (A) Kashmir valley
(B)  Rann of Kutch

North east states

M The Deccan Plateau ) 3

HopBésssen Gu‘r@ Hl&s Geparar uTHuy FHUBL LT SH® QHEGDL LGS eTgl?
(A)  sraglit uaTaTESTES

B) s&sléuEd

()] .Gu_l_aﬂggé;@ Lﬁﬁjﬂwréjasdw

(D) sésnew lsl_guﬂ

o 31 - _ ' JIGGT
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110. When was the Lord Rippon’s resolution adopted?

4) 1992
(B) . 1858
\W/ 1882
(D) 1870

riGug Aiuen Ggy Siwrend gHsluLL g)?

@A) 1992
(B) 1858
©) 1882
(D) 1870

111. 427 Amendment Act of the Indian Constitution was enacted in the year

(A) 1972
(B) 1974
M 1976
D) 1977

<irfluaaniide 42-cug) Hmss 5L HlavpGeauppiiu L e

A) 1972
B) 1974
(©) 1976
(D) 1977

JICGT ' 32



112. The Supreme Court of India is located in
(A) Mumbai

" (B) Chennai .

\9/ Delhi

‘(D) Kolkatta

@b 2 Fsfdlveamid SiemwhHgieTar G LD

A)  gbew
(B) Qsenenen
©) o
) Qsrésssr

113. Who appoints Central Vigilance Commissioner?

(A)  Vice President -

M President : i

&h - Paglianent

(D) Chief Justice

enLw aenc.ps'ﬁ shuy %ﬂ;mncﬁmﬁ Hluwend Qawiueui
‘(_A)' glenawT @@uu&ﬁ; ra_lr,a)w@fr'

B) @u}‘umaag Semaeurt

(©)  umprEBLEDD |

D) soemw FHub

a iR 33
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114. The 52nd _Amendment Act of 1985 deal with

J Anti-Detection Law

(B)  Election Methods
(C)  Election Reforms .

(D)  Election Campaign

52-cugy Sirfuaenliy S50, 1985 arams @NEADE? .
(A) a8 greue gL Fsl b

(B) Csisd apensar

(®) | Caiigd STd(mEShEeT

(D) . Ggirse Lptieny

-

115. Qne-third of the n:.embers of the Rajya Sabha retire after every

(A) - One year

|
L ot >
Two years .
(C©) Three years

(D) Four years

@rrsw sumelled epemMled e LkIE 2 mUflernTser —————— @b (PenD QuI6y nguélsing)@fr,_
@) enaTyHEG |

B) Qe[ uATHHEHES

©)  epan wSHsEES

(D) _‘r_r)rrei:rr@ <2,@0T (DS (ETHE S
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: 116.-_ Rajya Sabha consists of ——————— members.
A) 220 e B) 230

\V 250 ' (D) 200

wrfleomigar emeuuller Qs 2 mic Qanirgafer cramanfigons
A) 220 . y (B) 230
(C) 250 (D) 200

- 117. Match the following : .
Lok Sabha -

(a) Budget session 1.
(b) Monsoon session 2 February .
(¢) Money bill 3. July
(d) Winter session 4. November
@ 0  © @

q/ 2 TR SRy
B 3 4 2 1
©C 2 1 3 4
D) 4 3 2 1
Qurpsss :
(a) eurey@ewe) gl L & QT 1 & |6
(b) u@mesrrme’s Sl L g Qi 2 Yugeudl
(¢) wawr LCsIZM 3. 29ma
(d) @qﬂfr,a;wa}éa gl L g @grn._fr 4 g psufnur'f

@ () (© (d)

‘(A) - 2 3 1 4
(B) 3 4 2 1
© -2 55 3 4
(D) . 4 3 2 1

T | 5 35 : JICGT
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118. Identify the TICEL park
(A)  Rubber park
(B)  Textile park

(C)  Food park

\M Bio park

TICEL-eér ugé

.(A) U s
B)  goiofl st
(C). asaﬁsq Ly MBI

D) '_ 2 udfl yrisr

119. What is the main reason for poverty in India?

(A)  Slow devéioping of industries

\(f Population pressure

(© | Inequality of income

(D)  Indian education method -

@rHwrellen eripensarer Bls Apsew STyeTd wimg?
A) Eoneurer Gsma QueTiEs

(B) wssdr Qsmens 2i(WpEHHLD

©  aumonen gppssTHal

O @i sod gep

JICGT ‘ | 36



120.

121.

Consider the following pairs :

L. Steel Authority of India —
II.  First Paper Mill ge

III.  Industrial Policy of 1956 —

Which of pairs given above is / are correct?

&5 Tonly

(C) 1IIandIII

erreu@l.b @m%ma;meq a;@gg}sb Q&nens :

L. 6Ta = Hlmieuand | =
II. WS D 5n£g, N6V g
Il  Qgmflé Qenorens 1956 - i

Cup@iudl L @eamansaic erg #fl?

(A) I@L@ﬁ-

(C) I wopmw III

1974
- West Bengal

Private

\/Iandﬂ

(0) Ionly

1974
Gof @ eurhisTartd

saflw gieon

B) I wpmib II

(D) II w @i

Twelfth Five Year Plan’s growth rate target

A)  7.9%

(C) 5.6%

Liaf Qe gbsran® S sdan aieried eSsin

(A 7.9%

- (C) 5.6%

(B). 7.2%

(D) 8%

37 JICGT
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122. Ajanta paintings belong to the period of
(A) Chalukyas

(B) Rastrakutas

M Satavahanas

(D) Pallavas

SADHST eukgdT @outsers a;rreugémg,& ST SeDey
A) _gn@,mmm |

(B)  greisiqrsaLfHar .

(C) srsaunsaiser

(D)  ueeeurser

123. Sufism was originated from

(B) China

(C)  Egypt

(D) India

&9Gevid Canenfu GLi>
A)  rmyren

B)  Sam

©)  eadug

©)  @pun
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124. Match List I with List II and select the correct answer using the codes given below the List.

(a)
(b)
(c)
(d)

@)
V
©

D)

List—I
Battle -of Khanwa

Battle of Ghagra

Battle of Chausa

Battle of Kannauj

@ ® O

e 2 2
R 2
2 150
1 2 3

List—II

1540 A.D.
1539 A.D.
1529 A.D.

1527 A.D.

ulgwe I o Lar utigwé gy Qurmss ul;i;}ilé)as@és@a's &Gy 2 drer QzmELGa\(mHg sflwrer

eflenLemw Qgfley Qgwis.
ulguwier—I

(@) smeweums Qumr

(b) sré&yr Gumi

(¢©) Qaersns Gumit

(d) seCanrndll: Cumi
(a) (b) (c)

A) 3 4 2

B 4 a 5.2

© 2 £ i 4

D 1 2 3

uCigwie—II
&.49. 1540
&.9.1539
£.9. 1529

£.49. 1527

39
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125. Malik Kafur arrived in Madurai in

(A) 1211 AD. |

M 1311 AD.
(C) 1212 AD.
D) 1312 AD.
WIEIESETLLT LDFIenT eulr_'r;g,n-sm_f,_r';g, 24,61 (H DS LD.
(A) 491211
(B) .ﬂ& 1311.
€) &.9.1212
D) £.9.1312

126. The Pandiyas mainly imported the item of

@A) Ivory
(B) Gold
(C) Elephant

w Horse
LT 68T I WI T 6Tl b1 @Jé;eﬂu.;_: @n&Ewd DGLD.
A  shsd> |
(B) srsbd
(C) wnenen
D) oy

40
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127.

: 128.

Whom often referred as “Chanakya” for his diplomatic skills?
(A) Kamaraj

C.N. Annadurai

y C. Rajagopalachari .

S. Satyamurthi

sang AL sHATEAHETS “sramsALT et GUTHPUILGLGUT WTH?
(A)  smwogrer |

® CN. swraomges

©) C.@yrgCamunerssm

D S spBuepiss

C.N. Annadurai was conferred doctorate by

Anna University

\M Annam alal Umversny

C) Manipal Umvermty

(D) Bharathiyar University

C.N. iamrewrngieny cg;mﬁ&@&@ TS LDSMOEHHSD (peateufr UL LD euipiiduig)?
(A) SIRTE@TT LOEDLESLLELD

B) @TEmTTLOMED ué)éaémmé&;gg&n.b

(C)  wellumd LOSDESPSLD

(D)  urFAwni uOEMRESHPSHLD '

41
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(A)
©)

129. Who assisted to V.O.C in the 1908 Thirunelvi‘ising?

A\

Subramania Bharathi

Subramania Iyar

- Subramania Siva

(D) Sathiyamoorthy

1908 fm@naGaaiudier perLGupp sws58DE u.2-.8.6@ 2 gellwrs Qmbseul wmir?

GY
- (©)

sUgwertlu urgé
&UToemilL s

130. Match the following :

(a)
(b)
(c)
- (d)

(A)

©)
)

2
W 4 3
2
1

Vanchinathan
V.0.C _
Annie Besant

Kodi Katha Kumaran

(a) (b) (©
4

3
3

[ S S

s supenn QemaTés :

(a)
(b)
(©)
(d)

(&)
(B)
(©)
(D)

JICGT

cum@ehFBMge
eu.2 8 .
el Qusan.

Q&g HTES GLOye

() (b) (©)

O W =

2
3
2
1

T e

s A S

(d)

= o b W

i

(d)

[V

NN

B) &qumﬂu_ré]mrr
D) sbBu apisd

Chennai
Thiruppur
Tuticorin

Maniyachchi .

Qaemene

C Smuy,r
| H158I6G

werllwrés

42



131.

Arrange the following freedom struggle incidents in chronological order :

I Lucknow Pact

I Surat Split

III.  The Lahore Congress Session
IV. Swaréjy;a Party

@) LILIL IV w{ 11, L, IV, 111

I, IV, 1, 11

©- IV ILILI-

adlpseme Cumyrl L Blapsflsamer sre auflengiui(Bsg)s.

I. w&GaT UUBSWD
L o

L eongar sridlyey wrpr@H

IV. swurrgslu sl é

A) L IILIIL IV. (B)
(©) IV, 0LIL I (D)

Who was the Political Guru of Gandhi?
"(A)  Surendranath Banerjee

B) W.C Banc;rjee

(C). Bipin Chandrapal
M Gopala Kx_'ishna Gbkha]e

anhHudlen TSlwed @Heuns S(HsL LI LGl W mir?.

A &CrSypms Lireanie)

" (B) W.C. urenigd

©) QGQex &‘r_'r;ﬁ.qu o

D) Camure meipenr Careate

43

1L I, IV, III
I, IV, I, II
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133. Who founded Calcutta Hindu College in 1817, along with David Hare?
(A) Swami Dayananda Saraswathi
(B) Swami Vivekananda

(C) Ramakrishna Paramahamsa -

M Rajaram Mohan Roy

1817-@ Gl_aﬂh'_(._‘;@fr sminusuggﬁsh Qmenh gl HOESST @bE) a;rai_)@mﬂemm Blmeflweur wiri? .
A)  seurd swuranhHs sqﬁumﬁ
(B) seund iGeusreanbsm
-(C) @Un@aﬁ]@mm UL @DDET

(D) @y Gorserym

- 134. Name the present Chairman of the ISRO.

. Schotkhelly

MA S. Kiran Kumar

(C) Vikram Sarabhai

(D) Dr. T.V. Venkateshwaran

@pdlwu ellarbeued spassdler snGU rrémg)u_l SEEeUIT
A) | Gian s

(B)  AS. figaw o

©  spnp m}mun'uu

(D) Dr. 5.6 QeuiisCLeveurer
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135.

136.

-

Where is located India’s largest wind mill farm?
(C)  Udumalai
D) - Ra{sipuram

@sHwnellen sLQUMAW ETHDTO® LIGRTGNGRT GTMhI (& DIGDLDHS)6TETg) ?

@A)  spd

B) puupsed
©C) = (@uwew
D) gré&lygo

“ Where will be set up the AIMS Hospital in Tamil Nadu?

(A) Chennai
(B) Trichy -
(C) Salem

ETUILDED LO(BSSIEUOMET SLOPBTL 1 6 GTMEIE DIEDLESILL 6 6Tas)?

(A) Qeémeven

B) Hm&s
(C) Gsewbd
D)  wgey

45
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137.  To find the reflex angle, we have to subtract the given angle from 360°. Find the reflex

angle of 60°.

(A)

.310°

QsrRsstur L Catangms 360° Caransder @mbs 5065 Gaumans Caramd daL&@b erafled

60°c Yleteuenend CamenTid eTemen?

)
®)
(©)
D)

310°

320°

300°

350°

138. Sum of three consecutive integers is 45. Find the integers.

(A)

S

(©)
D)

15, 16, 17

14, 15, 16
13, 14, 15

16, 17, 18

5‘1@5.5_5@.%@ QLD et (p(p&aaflan saBs 45 crafle é{[_ﬁ,&) (PPESMENTS STERTS.

A
(B)
©
(D)

JICGT

15, 16; 17
14, 15, 16
13, 14, 15

16, 17, 18
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139. If the standard deviation of a set of data is 1.6, then the variance is

A) 04
. j 2.56
© 196

D) 0.04

e yatetl afleungHer AL eflewsswd 1.6 arafler oisan alwss mr‘ré;a;.&qrr&rﬂ (uqsu,erulq.)

A 04
® 256

©) 196

(D) 0.04

140. The area of a sector of a circle of radius 21 cm is 231 cm?. Find its central angle.

@) 45°

B) 30°
M 60°

® 120°

<7 21 Q&8 wHmib urtueTey 231 Qs.8° Qasrar@erer el L Carans LEGHulen @wwWEGsTaTsmS

snans.
@A) 45°
(B) 30"
©)  60°
D) 120°
n | 47 : ' 'JiCGT
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141. . 15% of the total number of biscuits in a bottle is 30. The total number of biscuits is_- ;
(&) 100

(B)

150
\W- 200
@) 300

6O LN ydd oder Qurss Gevsl Godiar aamesmadsd 15% Gavs @ 30 e,
Geval Hsafer Qurss eraraflsma '

(A) 100
(B): 150
(C) 200
(D) 300

142. Find the _LdM of 12(x 2 1)* and 15 (.:'c ~1) (x + 2)?
J 60(x —1)%(x + 2)?
B)  60(x-1)
©) . 3(x-1
O 3(x-1’(x+2)7
12(x - 1) wpmib 15(x ~1) (x + 2)* & 18.8.10. sneis.
(A)  60(x-1)>*(x + 2)?
| ® 60(x-1)
©) 3(x-1

D) 3(x-1)>(x+2)*

JICGT _ | 48 _ - | ' fa



143.

144.

Simplify 53 +18v3 - 243

A)

15V3

,}f‘. 2143

©

@)

25V3
1143

smEES 53 +1843 - 243 -

@A)
(B)
©)

D)

A number when increased by 12% gives 224. What is the number?

(A)
(B)
©)

15v3
2143
2545
1143

248
212

236

‘M 200

R aramenemr 12% Fa_(HCLTg) 224 SlenL_SFT) Db 6TEHT ST ST 6w

(A)
(B)
©)
(D)

248
212
236

200

49
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145. 20% of (A + B) = 50% (A — B). Find the ratio of A and B.

L s

.(B) Bt
C) .. 3:8
D) 8:3

20%(A + B) = 50%. (A - B) aafléo A wpmid B-wlén s srams.

A 7:3
() gl
(Cy- 3:8
D) 8:3

146. In a village, 15% are children, 40% are women. There are 900 people in the villége what is

the ratio Men: Women: IChildren‘?

@ 9:7:4
Me:s:s
(C) 7:9:4
(D) 8:9:3

@m Srmosde 15% Gheangser, 40% Quemnser, aﬂqnmg‘,@é&r Qurgsn 900 waser 2 arareni erafle
| yasar: QUAERTEHET | GBESEET GTETD dlflssms srams.

(A) 9:7:4
(B) 9:8:3
© 7:9:4
D) 8:9:3

JICGT : 50 n



147.

148.

The simple interest on a sum of money is % of the principal. Find the rate percent and

time if both are numerically equal.

(A)

B)

D)

81 %, 8% yrs.
7%, Tyrs.
73%, 7% yrs.

8%, 8 yrs.

2@ GHUALL Qgrensuien saflou_qwneang ojgeden 1—% LDLMBIG&E &b, Ul igeigapid, auHLApLD

ereqr LD Fw10Ms QHEEGLCUTE Uty I55@SWD QUHLSEOSU|LD STERT.
(A)

(B)
©
()

8% %, 8% eumHLRISET,
7%, T eu(mLrager
T5%, T eupLbiger

8%, 8 eu(mLmiser

A certain sum of money amounts to I8, 880 in 6 years and ¥7,920 in 4 years respectively.
Find the principal.

A)
®)

12,000
76,880

M 26,000

D)

M GHUYILL sswreag 't amdsaild I 8,880 esab 4 yar@safd f 7,920 gsa b wINADg)

TfleD DIFMDE HTETS.

(A)
(B)
(©)
D)

- ¥12,000

16,880
76,000
5,780

51
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149. The distance between the molecules is |
' (A) 10A - C g B) 1A
(C) 10°%m : M) 10 %m

10 A : B) 1A
(© 10°m D) 10 "m

y&ga@éﬁml_@uunm QsTenaay

150. When a car is moving on a circular track the centripetal force is given by the
between the road and the tyres.

(A) attractive force M frictional force

(C) electric force . ' (D) magnetic force

aumeareys umaguier s gearm Hmbyb Curgk LWBEGL sFTEsEGL @eLCw o drer
wwCHTEE aﬁlmmu_l FHUBHSSID.

A) ity s S B) ogmieyelas
(C) Ben e9ens D) srhs Nens

151. - Electromagnets are made of soft iron because of soft iron has
| (A)  low susceptibility and low retentivity
M high susceptibility and low retentivity
(C)  high susceptibility and high retentivity
- (D) low permeability and high retentivity

Bensmpshse Caafllmioy Astan® 2 maurssiu@damear. gQaeais CsallmbLinas
Qs et (HeTerg).
A)  @opbHs sMHS GHUS Hneeanub, @en;uwfrm Ba&mHos g;naim_eméuum
(B) . 288 s1HS eHLS Hpenenu|d, Gepeurer BH&THSS ST {LD
©) ofswrer smhs gHus Hpaanyb, Sifswrar BssTHss SIeTLameuw|b
D) Gt sTHS gHLS Hpeanub, SHswrarbssTHes siam_meaun

JICGT ' 52 . o



152. What is the compound of calcium used in white-washing buildings?

(A) Calcium carbonate

M Calcmm hydromde

Calcium oxide
(D) Calcium sulphate
SLLLRIS@EHEE Gmd‘rmmu.nq.ﬁugﬁ;@, Uweu (Hd &rrd)&'lu_:‘;_i;@s&l Gaimotd ergy?
(A) . sroflwud srruGer
B) sreflubd eman_yréms®H
(C) sroflubd sms® -

(D) smeodlwb gaGul

-153; The element which is an es;sential C§nstituent of all organic compﬁunds belongs - to
. _ group:
(A) 15th group
M 14t group
(C) 13th group

(D) 16 group,

Sia1HF)é &g GamomisERsE@ED g UL wrer Seflobd Q@S 2 drarg).
(A) 15-gyeug QzrEHude .

B) l4-myaug @§n6£u9¢

(©) ¢ 13iageiz CorEbead

D) 16-oug AsrEduie

0 ' S 53 JICGT
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154.

I.
1.

I1.

IV.

A)

(©)

The female sex organ in Alga-chara is called as

Globule
Strobili
Oospore

Nucule

I B) 1I

o - M v

Caym unflulen Quesr LTeymILIY

L.
1,

L

IV.

(A)
©)

155.

I
IL
I11.
IV.

(A)
©)

B

II1.

()
(©)

JICGT

@GarmuLe
vaL;G]UnlﬂmSl
oareuGuImT

Bluéuped

I _ ' ®)
I (D)

Penicillium

Rhizopus

Mucor

Streptomyces

1 | ®)

IV

Which fungi impart “earthy odor” to the soil after rain?

IT

I11 M v

wan&@&L 16 “LekT euTFmaen” GIHLIL STTERTLONG L, Ghene 6187

QuafFadlwibd II.

Bl &air IV.
I (B)
111 ) (D)
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156. In Bio-Diversity, how many hotspots were identified from all over the world?

a) 30
®) 40
(0 35

S

2 @& (WWeug b sarLMwiul Herer 2. ulflw Wens udumamw QL risafler aaraflsms .

@ 30
B) 40
© 35

® 25

157. Which protozoan causing Kala azar?

(A) Trypanosoma gambiens

\M Leishmania donovani

(C) Leishmania tropica

(D) - Plasmodium vivax

. “erer sEtany” gHUBSSID q@qrrl'_(%l_rr(ﬁérrsush (ep(m Q& L [Detrentl) erg?
(A  gAuuCamGemor GabiGween
(B) SevCuwafwr CLmenmeumaf
(C)  SevCueafllwm gymsasT

(D)  QermevComg Wb eeueuTHE

- U . B85 _ JICGT
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158. The Balaghat mines in Madhya Pradesh is the leading producer of which one of the
following minerals?

(A) © Manganese

(B) Iron
(C) Bauxite

( Copper

‘wiHw ArCsasH 0 2 erer LiTe&L (Balaghat) sgiiggdle Gemeumbd erhg saflob Flsions 9_9'31.}5@

- Qewwiudpg?-
A) - wvrEsals
®)  Qmwy

A(C)  umsemenL

D) smaum

159. Consider the following pairs :

I. ; Tropical Evergreen 'Rainforest o Ebony
I1. Tropical Deciduous Forest —  Pine
III. Temperate Deciduous Forest - Maple

Which of the pair given above is/are correct?

(A) Ionly ' : M .1 and III

(C) I andIII (D) Ionly

EpsTemid @enanaenar as@‘gsﬁdj Qames : -

1t G@aulILLE@TL® LSF@WLTDT @WPSSTHSE —  SHRETE
II. Qeutiuwenr_e @mawHir s ser -  evuen
.  BAsQauiin ver o @eoudis sr@ssr  —  Gulnder

CupeNublL Geamearrasafle) erg) &fl?

@) 1wCeb | | B) 1w III
© I wpgd III D) 1l oG

JICGT _ | 56 4er =B



160.. Which is the longest rift valley in the world?
"~ (A) Rhine rift valley

(B) Narmada river rift valley

_ M The great rift valley of Africa
(D) Vindhya rift valley -

2 @8lCaCw Ws Beromar Gerey LETETSSTEHE 678 ?

(&) eoper Qeney LenaTTEE

B)  piwosn epp dere) udeTssTEE

©) uafssreigierer Aumd uﬁ]a@ LETGTSSTEE

(D)  MpHw Yere) ueTaTESTES,

161. In which year was Panchayat Raj system introduced in Tamil Nadu?

(A) 1993
®) 1992
(C) 1994

SOIDBTLIg6) LIEHeMUSS TR FLLLD 6THS e (H &@@&uu(gsguur_u_g?

A) 1993
B) 1992
(C) 1994
D) 1958
n : 57 | g o JICGT

[Turn over



162. Which Amendment Right to property abolished by the Indian Constitution?

(A)  42n
B) = 43¢
(C)  45th

@bdu  srfluamwvude Qsrsgflaw siguuaL oflowvkd EQmbs Hésb GelwiLCL

sLLEmssd

@A) 42-ag
(B) 43-aig
© 45-aig
) Y

- 163. Constitution of India classified the Fundamental Rights as follows

\9( Six

(B) Four
(C) Five
(D) _s'e'ven

@pHw Sl o drer g liuamL 2 famwasaflen mmmﬂémg

A4) <o
B) pren
©) gbg
D) gw

JICGT ' 58 n



164. Arrange the following items according to the chronological order of Election Commission

I~ Electronic voting
II..  Rajya Sabha Election were reformed
I1I. Election expenditure was Increased

IV.  Voting right to citizens of India Living abroad

(4 LILILIV'
@) IV, 1 11,18

\(g/ 1,11, IV, 1T

(D) OLLI,IV

Caiige) <y enamTi BeLpenpenu m;ﬂsﬁ&u@gj@&. =
I Seengm @né@ udley

s . pTEWIELT égﬁgé Elﬁ‘d';]@gg,;b :

-IIi. Caitee o FaauribLy c-sq}ﬁa;rﬂuq

IV, Qauefipn( autp @bSuit eurés

A) L ILII, IV
B) IV, I II, III
(C) L 111V, III

D) HOLLILIV

0 | 08 59 | - JICGT -
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165. Assertion (A) : Indian Parliament has a bicameral Legislature.

Reason (R) : Lok Sabha is the Lower house and Rajya Sabha is the Upper house. *
M Both (A) and (R)‘ are true and (R) is the correct explanation of (A)

(B) Both'(A) and (R) are true but (R) is not the correct explanation of (A)

(C). (A) is true (R) is false .

'(D) (A) is false (R) is true

apm (A) - @pdw EWL!;T@LDGBT[DLE} FeeUSETE. & TERTL SMELD.

sryenTo (R) s &pmsuu_:rr.slmlésa;sh ém’mum Gmmmmung'mnﬁwﬂsdr SIEMEULD D GTETET.
A)  (A) wpgd (R) @rar®ib 2 anamwwungb (R) g (A) aaugen sflurar elassongb
B) (A wpgw (R) @reav@b 2 a@rewwur@w (R) eeamug) (A) eearugen e eﬁ]mésa;u.b‘.a@a)
C) (A) eranug 2 amenwwr@ (R) eremug) seum <@L

(D) (A) earug) sauprE b (R) eranugy o.amrenwwim@id y .

166. Which one of the following is incorrectly paired?

J Federal. System . — Supremacy of the Central Gov.el;-nment
(B)  Written Constitution . — Rules are w;itten down in a document -
(C) Parhément‘éry form of Government — Lok S.abha and Rajya Sabha
(D) Right to-Equality ‘ ' T Fundamental right

Geneumid Geamaeiles oTg) s BIOO? (DDNS)) 68 SeupTas)?

A4)
(B)

©)
D)

JICGT

Sl L8 pep — wsHu FeTRIGSHE 2 wWHlw sereLo

gL L Sirflueeaniy - dlflgpampaer B augeild TPSLILLLMaWNS
@'@éﬁeing)sm.

BTL_MEHLOEND (PN STETBRISLD — wé&sereneu HmD wrflekisearane

Fwggieu 2 fAenw - SguuenL 2 fenw
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- 167.

168.

Consider the follbwing pairs :.

Nearly 20% of the cultivated areas

I. Tube wells — Tanks
II. Tanks —  Storage canals
III. Perennial canals — Wells

‘Which of the pair given is / are correct?

w I only . o pra(B)

(C) IIonly : : L35 )

_tS]siﬂéJ(r_}ij Qamemamen shHGHle Qamens :

ETGUIg Q@@a;aﬂsh.é]LLl_g,gl'_l_ 20 s56f 415D

E BDGPTL Qsm@l -  Qsmiyg
II. Glg,ﬁLq - Gabluy smeveumil
11 4 QUDDTS STEOGUML  — eﬂmgy

Cwn@Hul L Qamemaseafe erg) #f?

@) Iuren ; ' ®)
(6) 77 I o Gid N 7 D)

Who is the chair person of Niti Aayog'?
(A) . President

Prime Minister

(0O) Vlce Pre31de nt

(D) Supreme Court Judge

58l .;%GU.IIT&QGHT SEHEUIT WIMT?
(A) geamdud

(B) Qgsw wi

© goar gyurss gemmai
(D) = oésgHoe BHUS

61

IT and III .
I and II

I wpgo 11T

I wpmd 11

JICGT
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169. What percentage of the total population live in rural area, as per 2011 census?

(A 40%
B) -50%
‘M 60%
(D) T70%

2011 sew&@am e Qorss m&&ei‘r.@g,rtma;uﬂléu oarrgSSled UT(PLD LO&&ET Qgrens s5658W eremen?

(A 40%
B) 50% -
C)  60%
@)  70%

170. Consider the following pairs :

I. Steel Industry- ‘ — Salem
II. Sugar — Méharashtra
II.  Petroleum .~ Cement

Which of the pair given above is/are correct?

(A)  Tonly J Iand II

(C) IIand III (D) Ilonly

Wesrau(mid @enenTgener &(HeHler Gamars :

I @mwy Qerfinsrened -  Gseoid
II. sigsany Ggmplen —  D&TIMEY T
IMI. Qui Cpredlwib .= SUwerr(®

CuonEdudllL @amearsafe erg &fl?

A)  1wl@b | ®B) T wpgo Il
(©) 1 wpyb 11 (D) II b @b

JICGT ' ' 62



171. Consider the following statements :

Assertion (A) : Babur won the first Battle of Panipat.

- Reason (R):  Babur used artillery in the battle.

' J (A) is correct; (R) is correct explanation 6f (A)

(B) - (A)is wrong; (R) is correct

(C) (A) and (R) is wrong

D)  (A)is correct; (R) is not the correct explanation of (A)

Swsenanb cursSunsmend seueaf :

Fa DO I(A) : unuit geomb uraeflul_ GO Gurfld Qeudd Qupmmi,

sryentd (R) : uruf Syadld ueLewl Gurflée vweru@ e,

A)  smpm (A) &M ; sTyewTbd (R) gapm (A)-en eflwrer eflengdad <y @W

B) sy (A) seum; sryawrd (R) &M

' (€) apm (A) seum; smrewd (R) seum

D)  sdm (A) s srramd (R) sadm (A)-an sfluman eflerésib Side

172. th wrote the book of “Rasagangadhara”?

(A) - Dara Shukoh ; - B

j dJ aganatha Panditha (D)

“resmisngyT eTenm HIGHE eT(WPSuIeuT WwimT?

: A sy a§Cam ' (B)
(C) Ogsprs uamgsi - : (D)

Abul Faizi

Tulsidas

Siyed Quws

glemd s

JICGT
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173. When was the first Lutheran missionaries arrived in Tranquebar?

J 1706 A.D.

(B) 1606 A.D.
(C) 1506 A.D.
(D) 1406 A.D.

WBEPEOTS rUAUTYSE SISHTEN SWLI LTUILTETHSET STHSDUTSE s Llbsai?
(&) 9.9.1706 |

B) £.9.1606

©  £.9.1506

D) &.9.1406

174. Reign of Krishnadevaraya was *

(A)  From 1409 upto 1429 AD.

~S/ From 1509 upto 1529 A.D.

(C)  From 1609 upto 1629 A.D.

(D)  From 1709 upto 1729 A.D.

fmeyaCaeugmufer = & a;r@fo_
@A) 8.9.1409 wse 1429 auewy
B)  &.9.1509 apsd 1529 aueny
(©)  £.9.1609 s 1629 cuany

D)  &.9.1709 pge 1729 euanyy

JICGT : 64



175. Who visited the port of Kayal in twice?

M Marco Polo

Domingo Paes
(C) Nuniz
(D) Nikitin

ST NS DS B (MH PN CUHENS SHSEUIT WTT?
(A) wr&Gsr Gumer

- (B)  QumAmGsr uwey

(C) mrefleiv
D)  Héger
176. Manur inscription provides an account of administration.

(A) Central

y Village

(C) Military

(D) Provincial

wreyrt sl Bireunasbd @hss daudsmens smang.
'(A) WS iy

B) &gmowb

©) uwer

: (D) wrsTewTd

JICGT
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177. Which one of the following is not correct pair?

L Poona Pact - 1931 AD.
H. Second Round Table Conference - 1932 A.D.
III.  Government of India Act - - 1935A.D.
IV. Crips Mission - 1942: A.D.

A I and II only

(B) III and IV only
(C) IandIVonly

(D) II and III only

Spssanameusafley eTbg @lenenTt Heummeng?

L . yeTT @UUBSLD | - 4.9.1931
II.- @UaﬁTn;an aul_L Gueng wrpr®H - #.9.1932
III. @kdw s s b = &.9.1935
IV.  afdev gngié G - 4.9.1942

A Twogo Il wlGw

(B) III wpmw IV wl @B
© IwvombIVwl @Ed

D) I wigo 1T w Gi

JICGT ‘ 66 n



178.

Consider the following statements :
Assertion (A) : The beginning of Swadeshi Movement in Tamil Nadu.
Reason (R) : The cause of the partition of Bengal in 1905.

(A) Both (A) and (R) are incorrect
W Both (A) and (R) are correct and (R) is the correct explanation for (A)
(C)  (A) is correct but (R) is incorrect '

(D) Both (A) and (R) are correct but (R) is not correct explanation for (A)

Qérmeu(meuatelHenm seuasSle Qsmers.

ampm (A : sOpET o 5CsH Quissid Carendlig).

smpewrd (R) : 1905 & pev_Qupm curuss 9felenaGu £i5H @ syemmoneLb.

A)  smpm (A) wpmib srrerTd (R)-wyb seumy

(B)- . gamm (A) wOMD SryewTLd (R)- Wb &M Gogytd 5&UGWLb (R)-@ snmm) (Aj sflwren éﬁ]mé;asmrr@ﬁ:
C)  asmpm (A) sl yamed srgenrd (R) seum _

D)  som (A) wpmw smerd (R)-wyb #f Gogib sryeard (R) aaug sapm (A)-ssrer sflwmer

afleT&sLSleanen

After the Surat split in 1907 an association was started by V.0.C. and nationalist
(A) Chennai Swadeshi.-Sangam .
(B) Chennai Mahajana Sangam

(C) Chennai Bharathamatha Sangam

W Chennai Jana Sangam

.1907 G&T5 Yeate @ WUnE eu.2_.8. wHmb wHn CasAw gmmeur’ra;mrréb QeTLBmSLLLL FRSD 6Tg?
A) Qeenenen &Cs58 smsD

(B) Qserenen wammen smisD

(C) Qsenener LUTFSLTST SEISLD

(D) Qserenen man smGD

67 ‘ JICGT
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180. Who was the Congress President in Tamil Nadu during the time of Non Co-Operation
Movement? ' : ;

(A)

!

Kamarajar (B) Rajagobalachariyar

E.V. Ramasamy (D) Sathiyamoorthy

PSSP PWITELD BUISSLD meQu@gé Qararrig.mHbs Curg SOWLBHTLger sTRISTE Seneeum wmi?

(A)
(©)

ST B) @rrenCGsrumrenssriwmi

E.V. grogma | (D) ssdwepiss

181. Match the following :

(a) Rajagopalachari 1. King Maker

(b) Kamaraj 2. Kappalotiya Thamizhan
() V.0. Chidambar‘ampill.éi 3. Mundasu Kavi

(d) Bharathiyar 4. Chanakya

(@) (b) (c) (d)

J 4 1 2 2

®) 1 2 3 4
©) 3 2> 4 1

D) 2 4 1 3
Yleeumeuareunenn CumBSg!s :

(@) nrgGsrurenssmi 1. sipser 2 (HeursEueur
(b)  smogrsi 2. suuCerligw slper '
() ou.2 fgburberenar | 3. e &6l

d) urgdwnrr 4. srawsSwr

: (a) (b) (© (d)

A) 4 1 2 3

B 1 2 3 4
© 3 2 4 1

D .2 4 1 -3

JICGT 68 n



182. Which is wrongly matched?

- (A)  Sudhi Movement
(B) Ayyavazhi

W Ramakrishna Movement
(D) Naﬁdhari Movement

Swami Dayananda Saraswathi

Vaikunda Swamigal '

Ramakrishna Parama Hamsar

Bama Ram Singh

Spéaam_eupmieT 678 Seupns QuTmesLULL [Heterg)?

A) - #5858 Quésbd
(B) ai'u'_m_jrra.n‘.ﬁl
(©) grofmegentm @uEsD

- (D) prbgril QuEsd

seurhl &

wrenbs sreveud)

meuEGeTL Seumblser

@rmodlmegent LFwaDbE T

U g Sk

183. Which one of the following is correctly matched?

(A)  Arya Samaj

. \M Theosophical Society

(C) Samarasa Sudha Sanmargha Sangham

(D) Satyashodak Samaj

Spasa_cupmier sMlwrs QUImSSLIUL(HaTerg) 618)?

A) ey sorgid
(B) Qnbw gpren Fenus
(C) &wns 555 saONTES FRISLD

(D) &5wWCsngs swIYD

69

Vadalur
New York (USA)
Belur

Gujarat

QUL QN
Bluywinis (QuwhésT)

Gugyrfr -

- BRITS

JICGT
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184. Arrange the following harbours in the East Coast from North to South Order.
L Paradwip
II. Visakhapatnam |
ITII.  Kolkatta
IV. Haldia

A IVILILI B I ILIII, IV

J L, IV, I, IT : D) IV, IILILII

fpses s ps@de  srauu@n  YGaeumbd gopepsnsma  aLsfe Qmbs CsdsTs

cuflensiLHSHeLD.
I unySU
IL. Gﬂ&ﬁ&;lﬁ;uf_mrémb

III. Qsrésssm

IV.  apméqum

A IV, IOLILI _ | B LILIILIV
(C) UL IV, I ' _ D) IV, IIL L II

185. National Remote Sensing Centre located at

(A) -Bangalore - ({Hyderabad
(C) Hassan | (D) Sriharikotta \

Caélw Csrene @&T@mﬁm Gb')LDu_ILb.é-lmLD'r_iingiTaT @Lo
A)  Qumsent : - (B) oapgyruns

(C)  apsen D) BanfGsriLn

JICGT 70 n



~ 186.

187.

How much subsidy has been given to “Amma Two Wheeler Scheme” for working women by

: the Tamil Nadu Government?

(A) . 20 percentage

(B) 30 percentage

M 50 percentage

60 percentage

2 MP&EELDL UMTEERESTET ST Q(HEEST UTES S SSDG, SIS DATFTED eTEUGIGTE FHGISLD

el wuTs mg@&ﬁﬁ@ﬁm@?
(A) 20 sseisd
(B) 30 gseigbd

(E)s =50 &'Q}G'Sg;Lb.

(D) 60 sz6Ssd

Which day is being observed as Anti-Child Labour Day by our go{rernment'?

(D) - January-12

Gupms Gamfleoreri wenm il HTors HOPEL LI STFTED a@jmﬂmuu@m Sled erg)?-
A) g9an-12 '

®  gOww-2l

©C) g9mw»-12

(D) geeuf-12

71 : JICGT
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188. The value of 48+12x(% of %——3— of -?—J is

T
1
(A) 1-3-
1
(B) 55
© 3

RO ERIDN e

48-.-12x[8 @m a7 @ev 3) udlett iy
1

A) 1§
1

B =

B) 53

© 3

(D) 12

189. If the coefficient of variation of a collection of data is 18 and its standard deviation is 3.42,
then find the mean.

19
(B) 36
(C) 61.56
(D) 342

em yerefl efeursden wrHUILHE Qe 18 wHmL HlLdwssd 3.42 aafll® g sl
syrEfens Srenrs. : : '

(A) 19 ‘
B)* 36

©) 61.56
©) 342

JICGT 72 | i ' 0



190. What percent of 3% in 5%?

A 70%
B) 50%
©C) 40%

M 60%

5%-&@ 3%-an eSl(p&&T(H eTetmen?

A).  70%
B) 50%
C) 40%
(D) 60%

789 x789x789 +211x211x211

191.  Simplify
789x789-789x211+211x211

@A) 578

| @f 1000
© 1578
D) 587

T89IxT78IxT89+211x211x211

FO5G 739x789 789 x 211+ 211211
@A) 578
(®) 1000
©) 1578
D) 587
n ‘ 73
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192. The L.C.M. of 22, 54, 108, 135 and 198 is

(A)
.(B)

qgﬂf'

(D)

330 °
1980
5940
11880

&G Qardsasliul_Herer cramsafien 5.Qu.Lb. srawrs.

22, 54, 108, 135 whmibd 198.

A)
B)
©)

®)

330
1980
5940
11880

+193.  The sum of a number and its reciprocal is 6% . Find the numbers.

(A)
(B)
(©)

(D)

JICGT
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194. The principal that will yield a compound interest of € 1632 in 2 years at 4% rate of interest

per annum is ¥

\9{ 20,000

(B) 25,000

(C) 30,000

(D) 35,000

4% oy el aisliug 2 yamr@seid T .1632 sl @ ey smHD s I %5
QoéEL

(A) 20,000

(B) 25,000

(C) 30,000

(D) 35,000

~ 195. A and B together can do a piece of work in 12 days, but A alone can do it 20 days. How many
°  days would B alone take to do the same work?

D)

24 days

20 Caumaew A wvipd B Hddu Quweaumb Cesibgy 12 prisefled qu.uufr.. A wlEw

suCaumaamw saflwrs 20 prisefle wylur, aafleo B wl @b saflurs scuCamwamwu assaman

Brisefléd g Lur?
A) 24 prisefle
(B) 30 prisefle
©) ' 36 prisefi
(D) 28 prisefle

75 . ~ JICGT
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'196. Which of the following is not a prime number?
@) 241 | | - ®

M 391 | | o

Spsam_cunBle g LsT ETERT D@7

A 241 - (B)

©) 391 ()]
197. Simplify % of [5%—4%}

o
A - 3
© = D)
H(HES %-6’0 (5——4%}

2
(A) 5 (B)
© I )

198.  Find the value of k if 13 +2%+3% +...+ k® =6084.
@ 14 '
© 13 (D)

1°+2°+3% + ..+ k% =6084 crafle k-ar AU wrg?

A 14 ‘ (B)

© 13 (D).

JICGT : 76

337
571

337
571

19

36

12
15

12
15



199. If A:B=2:5 and B:C=4:1, then find A:B:C

(AL #2::9:1
B) 4:9:2
¢8:20:5
(D) 4.:18:3

A:B=2:5 wpmd B:C=4:1 aafl® A:B:C ereanug

Ay .2:9:1
B) 4:9:2
(© 8:20:5
©) 4:18:3

200. If 8 workers can complete a work in 24 days, then 24 workers can complete the same work

Ee s in
M 8 days
(B) 16 days
(C) 12 days
(D) 24 days
8 Guit @ Caumaew 24 prisafled iy ssred 2Cs Ceumaranw 24 Gui prsafle
(I YNTE] . |
(A) 8pmiser

(B) 16 priger
(C) 12priser

D) 24 priser

£ 77 ' JICGT
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